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CamocmoamenvHasa paooma

Bapuanm 1.
. 1.Bripasure.
:17ra=1700a
, 57000 a =570 ra
5400 M2=54a

| L 7 ra = 70 000 M2

\ 2. Pemure 3a1a4y.

¢ JlnrHaA NpsIMOYroJIbHOIo
-1+ ydacTka 720 M, a mmMpuHa Ha
80 M meHbliIe. Beruuciure
ésoo Iomanb y4dacTka.

1) 720 — 80 = 640 (m) —
wupuHa yuacmeka

2) 720 - 640 = 460 800 (m?) —
IALT" niowasb yuacmia
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Bapuanm 2. X

1.Bripasure.

15 ra =150 000 m?
3700 a=37ra
24dra=2400 a
670 000 M2 =67 ra

2. Pemure 3amay4y.

[InprHa IpssMOYTrOJILHOTO
yuactka 370 M, a JUIMHA Ha
30 M OosblIe. Beraucianre
IJIOIIA/b YYACTKA.

1) 370 +30 =400 (m) — 0nuna
yuacmka

2) 370 - 400 =148 000 (m?) —
nﬂoma()b yuacmka
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